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FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — III Time : 2 Hours
COMPUTER APPLICATION  Cool-off time : 15 Minutes
(COMMERCE)

Maximum ; 60 Scores

/General Instructions to Candidates : \

® Thereisa ‘Cool-off time’ of 15 minutes in addition to the writing time.

® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

® Read questions carefully before answering.

® Read the instructions carefully.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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9.

PART - A

Answer any S questions from 1 to 6. Each carries 1 Score. (B x1=5)

The base of Hexadecimal number system is

2, 8, 10, 16)

Write the full form of HDMIL

Name the software that translates assembly language program into machine language

program.

Pick odd one out :

(float, break, add, char)

Which is the keyword used for empty data type ?

The protocol used for internet communication is

PART - B

Answer any 9 questions from 7 to 18. Each carries 2 Scores. 9 x2=18)

What are the methods of representing characters in memory ?

Categorize devices given below into input devices and output devices.

Joystick, Scanner, Plotter, Microphone, Printer, Mouse, VDU, Speaker

Write any two limitations of flow chart.
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PART - A
1 2)®@3 6 AHOVSS GaRBKBHEI3 aBO@BIENC S afFRATIM DA af)P}®}d>.
1 capod aflo. ((5x1=5)

9a0¢h0 HWaAE3 MIUA MIgLOEIO EmIay’ @RYYAN).

2,8, 10, 16)

HDMI @)6)S a1)36 ®)alo af)93@)dh.

@acmoegfp LI10oCNIER  CIdWIAOM DU LIdoCNIER  CrldWodlealss 20Q)aM
CybelTareloliuielloly s Gal®.

BJOT@B HAISITTHD GNROETNS)ITID) af)$3M) |

(float, break, add, char)

U0)NIAIW AWIQO HOSa I GAUNE DalcIUED)AM HEAUIBW aR@6M ?

eDMBAFABO MY BHIANMIEHNAH M DalEIUASHN)AN E@106ZOCH0UB @1R)B)aAN).
PART - B

7 2)®@3 18 16088 ¢a1034SE08 aBo@BSIEI 9 af)FROTIM DOMOOADI®)d:.

2 capod alla.. 9 x2=18)

0222 AVAG3 300H0)HUB (AITITAWIMo B21GMTIMES BlTNBHUB RO ®LJoR6M ?
@O OBISIOITATENAN  DalBHEAMEBBOS  NMBal) Dald0MEBEIW) BDFal)g
DalBHOMMEIBBIW)o @0 GBI

Joystick, Scanner, Plotter, Microphone, Printer, Mouse, VDU, Speaker

Ga Q2 210851003 aRO@B L0 EaNE a BB BUB af)$ YD)
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10.

1.

12.

13.

14.

15.

16.

17.

18.

Write the syntax to declare a variable in C++ with an example.

Classity the following operators into unary and binary :

[<,!,=,++]

2

Explain two ways to write comment in C++.

Compare relational operator and logical operator.

Consider the following C++ code :
for(i=1;1<=10; ++1)
cout <<1;

Rewrite the above code using while loop.

What are the uses of repeaters ?

Write the characteristics of Bluetooth transmission.

Explain cc and bee sections in an e-mail.

Define the term Tele conferencing,
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10.

11.

12.

13.

14.

15.

16.

17.

18.

C++ @ cadlomild AWlHoad ealgmM@ImSs ANGIPLIST 9BIaOEM TVadlGo

af) 91O,
@06 B0S)OBIIBlSN)AM 630a|c0g0)»e8 WM, 6eMINT afaTi 80q]c0g0)dEB0V]

@00 @GN D :

(< > ' > = b + +)
C++ @8 comment ag)®)@)10mM)88 @61e QISlB:03 vl B3l o).

dleelaxem@3d 630q|c0Q0) CGRINHIGHM3 B30a|CNQNL @OVMAYo 612 IQ))d:.

@8 60S5) B BN CH+ GBI aIBINETIBN)H; :
for(i=1; 1 <=10; ++1)
cout <<1;

MBEI@3 63:05)016I@lBHM Gd00w While 100p ©alcwouila @G ag)9)@)ds.

Repeaters 63 Da1cINERUB g6 ?

Bluetooth (VoG (alaueM@TNOG (ICD Y@ RHUD af)$)0)d:.

e-mail &gl cc, bee af)afl @ovemBeg @ydla] allaIGlee)d.

Tele conferencing ag)am alBo AABQ|a l66))H.
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PART -C

Answer any 9 questions from 19 to 30. Each carries 3 Scores. 9 x3=27)

19. Differentiate RAM and ROM.

20. Explain any three common methods used for e-waste disposal.

21. Define the following :
(1)  Syntax error
(i) Logical error

(iii)) Runtime error

22. Define token in C++. Name any four tokens available in C++.

23. Find the value of z in the following expression, if x = 10 and y = 4
O z=x%y
1) z=(x<20)&& (y<5)
(i) z=(x>20);;(y>5)
24. Consider the following C++ code :
intx=5,y=2;
float z;
z=x/y;
cout <<z,

Write the output of the above code. Justify your answer.

25. What is meant by type modifier ? Explain any two type modifier in C++ .

26. Differentiate between switch and if ... else if statements.

27. Write three parts of a URL with an example.

28. Differentiate LAN and WAN.
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PART-C
19 2)®@3 30 Q1HEWIRS G213 EBS03 a@O®BIEI)o 9 og)em(mﬂm'@@mmt»@;@;&.
3 capod ailwwo. (9 x3=27)

19.  RAM, ROM qogarial @onilenss alymoausoBed af)$io)d:.

20. e-waste (fl@22008RMo OIS HADM)AUIV] DalCIWIENM aBO@EIRI AN
BlNB63 vl BBl 09 .

21. ™96 63:05)a0idlBIMAl AldQ)a @) :

(1) Syntax error
(1) Logical error
(1i1)) Runtime error

22. C+t+ oer token aldqailen)d. C++ @3 RIBIMOD aRO®EIRI) MIBI GSISHEMIHBIONS
Cal® af)$ ).

23, x 0§ aller 10 2 y o allel 4 9o GRHEMBIGE @6 6BSOBICeNaM
Ol @3 z 60 afle! dane)aflsles)d.
i z=x%y
(i) z=(x<20)&&(y<5)
(iii) z=(x>20);;(>5)
24, ©061% 63:05) ARl HMNAN CH+ CHIW alBWEN®: :
intx=5,y=2,
float z;
z=x/y;

cout << z;
MDHID HRIS)OD CHIUWDNG BDFaNG af) ). TEBBSIOS QOB TVIWRHTIHN):.

25. Type modifier @RAGLOMISHNMMD af)a® ? C+ el agomeilen. ee’ type modifiers

oM B)Ma 0Nlvodle:dl 86
26. switch, if ... else if (IqRIAUIMBHUB @lLNSH AIYDIPTVEBUB af) 9O
27.  URL &3 2)am @00enud 2B80a006M MVadl®o af))@)d:.

28. LAN, WAN agyavilal @2lengs alymoauesd af)9im)d.
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29. What is search engine ? Write any two example.

30. Write any three advantages of e-business.

PART-D
Answer any 2 questions from 31 to 33. Each carries S Scores. 2 x5=10)
31. (i) Find the 2’s complement of (100010), (1)

(i)  Find the value of x, y, z from the following :

(a) (10101), = (x),, (1)
(b)  (107)y = (), )
(©) (5D = (@) )

32.  Consider the following algorithm :
Step 1 : Start
Step2: N=1
Step 3 : Print N
Step4: N=N+1

Step 5 : If N <=5 then goto step 3

Step 6 : Stop
(1)  Write the output of the above algorithm. 2)
(ii) Draw the flow chart of the above algorithm. 3)
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29. Search engine af)IMMI@3 af)a®) 7 afO@ESILI0 OME DBIAOBEMEIBUB af) @)

30.  e-business 608 aBO@&EIL10 M)AN CADDUD af))@):.

PART -D
31 )08 33 AUEEWBS ¢2RBKBHEIG3 ABO®BIENS 2 af)ANOTIM DTNOOAYL®)d>.

5 capod afl@o. 2 x5=10)

31. (1) (100010),603 2’s ca0qfloand @6ene)aillSlo)d. (1)

(i) @8y oS EIIAleMIMAUI@ almpe X, y, z ofadlaes allel

D62 N1 09 -

(@) (10101), = (x),, 1)
(b)  (107)4=(y), 1)
(©  (51),5= (@) @)

32, ©06% 6305)GEl LM @RGICUNITI Do alBlNEMEa)D

Step 1 : Start
Step2: N=1
Step 3 : Print N
Step4: N=N+1

Step S : If N <=5 then go to step 3

Step 6 : Stop
) 2ET3 6305010 GRGICNIADOTNO BDFa NS af)$)®)d>. (2)
(i) 2B 605G NI ERBIECNISIDATHNO CaQo 2198 AUUOD)D>. 3)
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33. Consider the following C++ code :

int x, sum;

sum = 0;

Cout << sum;

(1)  Which is the loop control variable in above code ? (1)

(i1)  Write the four elements initialization, test expression, update statement and body

of loop in the above code. 2)

(iii) Write the output of above code. 2)

FY-46 10



33, ®26% 63:05) @ EHN CH e al@lWerTilen)d: :

int x, sum;

(i)
(it)

(iif)

FY-46

sum = 0;

Cout << sum;

MAHSIG3 616205 E BN E30W1@3 loop control caIGIeNNUB agi@maem ? 1)

MAHSEN3 ODIS)OTNBIBNIN GHocwlael initialization, test expression, update

statement, body of 1oop ag)amilal ag)®1@)d. 2)

2] G3 O30SO HHAM EHOWINNF BDFaNT af)F) @)D 2)
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